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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Give any one difference between direct and indirect 

material cost.

		  àË¶j d AàË¶j gm‘J«r bmJV ‘| H$moB© EH$ AÝVa ~VmB¶o&

	 (ii)	 Give the formula for calculating maximum stock level.

		  A{YH$V‘ ñQ>m°H$ ñVa JUZm H$m gyÌ Xr{O¶o&

	 (iii)	 What do you mean by apportionment of overheads?

		  Cn{db¶  Ho$ AZw^mOZ go Amn ³¶m g‘PVo h¢?

	 (iv)	 What do you mean by prime cost?

		  ‘yb bmJV go Amn ³¶m g‘PVo h¡?

	 (v)	 What is the cost unit for a goods transport company?

		  EH$ ‘mb Q´>m§gnmoQ>© H$ånZr H$s bmJV BH$mB© ³¶m hmoJr?

	 (vi)	 Why reconciliation statement is prepared when two set of 

books are kept?

		  O~ nwñVH$mo Ho$ Xmo goQ> aIo OmVo h¡ V~ g‘m‘o{bV {ddaU nÌ ³¶m| 
~Zm¶m OmVm h¢?

	 (vii)	Give two examples, where job costing can be used.

		  CnH$m¶© bmJV {d{Y Ohm± bmJy hmoVr h¢ CgHo$ Xmo CXmhaU Xr{O¶o&

	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&
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2)	 Give different components of cost.
	 bmJV Ho$ {d{^Þ A§Jm| H$mo ~VmB¶o&

3)	 Explain "Machine Hour Rate method" in brief.
	 ‘erZ K§Q>m Xa {d{Y H$mo g§jon ‘| g‘PmB¶o&

4)	 Explain labour turnover rate.
	 l‘ {ZH$mgr Xa H$mo g‘PmB¶o&

5)	 Give the reasons of dissimilarities in cost and financial profits.
	 bmJV d {dÎmr¶ bm^m| ‘| AÝVa Ho$ H$maUm| H$mo g‘PmB¶o&

6)	 What are central accounts? Explain their utility.
	 {Z¶§ÌU ImVo ³¶m h¡? CZH$s Cn¶mo{JVm ~VmB¶o&

7)	 Explain any two methods of pricing of issue of materials.
	 gm‘J«r Ho$ {ZJ©‘Z Ho$ ‘yë¶m§H$Z H$s {H$Ýhr Xmo {d{Y¶m| H$mo g‘PmB¶o&

8)	 Explain "Absolute Ton km" and "Commercial Ton km".
	 ""n[aewÕ Q>Z {H$bmo‘rQ>a"" d ""dm{UpÁ¶H$ Q>Z {H$bmo‘ra'' H$mo g‘PmB¶o&

9)	 Write the list of items which are not included in cost.
	 bmJV ‘| gpå‘{bV Z H$s OmZodmbr ‘Xm| H$s gyMr {b{I¶o&

	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 
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10)	 Write short notes on the following.

	 {ZåZm§{H$V na g§{já {Q>ßn{U¶m± {bImo.

	 (i)	 Profit on incomplete contract 

		  AnyU© R>oHo$ na bm^

	 (ii)	 Work-in-progresss

		  AÕ© {Z{‘©V ‘mb

11)	 What are the recognised methods of accounting for by 
products?

	 CnmoËnmXm| Ho$ boIm§H$Z H$s ‘mÝ¶Vmàmá {d{Y¶m± H$m¡Z-H$m¡Z gr h¢?

12)	 Calculate P/V ratio, Break even point in `, Sales at a profit of
` 60000, profit at sales of ` 20 lakhs from the following 
information. Selling price per unit ` 200, variable cost per unit 
` 100, fixed cost ` 2,00,000.

	 {ZåZm§{H$V gyMZmAmo go bm^ ‘mÌm AZwnmV, Z bm^ Z hm{Z H$m {~ÝXþ 
ê$n¶m| ‘|, 60000 ̀  Ho$ bm^ na {dH«$¶, 20,00,000 Ho$ {dH«$¶ na bm^. 
{dH«$¶ ‘yë¶ à{V BH$mB© 200 `, n[adV©Zerb bmJV à{V BH$mB© ` 100, 
ñWm¶r bmJV 2,00,000.

13)	 Calculate material variances from the following.
	 Standard price per unit ` 10, actual price per unit ` 11. actual 

quantity consumed 10000 units standard quantity required for 
actual production 9000 units.

	 {ZåZm§{H$V gyMZmAm| go gm‘J«r {dMaUm| H$mo kmV H$[a¶o:
	 à‘mn ‘yë¶ à{V BH$mB© ` 10 dmñV{dH$ ‘yë¶ à{V BH$mB© ` 11 dmñV{dH$ 

gm‘J«r Cn¶moJ H$s 10000 BH$mB©¶m§ à‘mn gm‘J«r H$s Amdí¶H$Vm 
dmñV{dH$ gm‘J«r CËnmXZ Ho$ {bE 9000 BH$mB©¶m§.


